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( REVISED COURSE ) cM714
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. -:s:ion No. 1 is comPulsory
-.::npt any four out of the remaining six questions.
.. r . .rme suitable data if required.
F.:u res to the right indicate full marks.

:::eI the following questions

l.::w the graph from given incidence matrix and calculate total number ofpossible trees.
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'I'rite 
a short note on source shifting and source transformation.

: Current in 2Q resistor is I = 3A. IfR is changed to 3C), find new value ofl

R= 2C)

- Deternrine parameter 222and A for the network shown.

20lo

1

: Write shon note on initial condition and its significance.
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bv superposition theorem'

3 (a) Use mesh analysis and find all branch currems'
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- :ened at  t  :0.  Solve for  v ,

3

dy and d2 v at t :0+

: t The Z parameter of a two port network are 211=20 {1, Zzz =30 Cl, Zzr= Zn=f 0 O.
Find Y and ABCD parameter of the network. Also find its equivalent T network

rr) Test whether following functions are positive real or not.

i )  s+2 (ii) S2+6s+2

52 +3S+2 s2+3s+5

o)
Y (S;=

(s+2) (s+5)
synthesize using Cauer-I and Cauer-II form.

s (s+4xs+6)

ra) Define and with suitable example differentiate between
i) Tree and Cotree
ii) f<utest matrix and Tieset matrix
iii) Planer and nonplaner graph.
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a'

.n I _--:i:r Inciclence matrix, Tieset matrix and icutest matrix

A ( l)
for the graPh shown.
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(a) for a series RL circuit, a constant voltage is applied at t =0' At what time does Vn=Vr- ?

1Ocr

(b) In the network shown the switch is opened at t = O when steady state condition

has  been reached prev ious ly .  F ind  i ( t )  fo r  t>O fo r  open s r r l , i t ch  pos i t ion '

Use Lap lace  method.
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